International Journal of Science Culture and Sport

 June 2017
 : 5(2)

 ISSN
 : 2148-1148

 Doi
 : 10.14486/IntJSCS650



Field : Coaching, Sport Psychology
Type : Research Article
Recieved: 21.02.2017 - Corrected: 23.03.2017 - Accepted: 27.04.2017

Investigation of the Effects of Eight Weeks of Pilates and Step-Aerobic Exercises on Physical Performance and Self Esteem Scores of Females

Fatma ÖZTÜRK, Özhan BAVLI

Çanakkale Onsekiz Mart University, School of Physical Education and Sports, TURKEY Email: ozhanbavli@hotmail.com

Abstract

The aim of this study was to investigate the effects of eight weeks of step- aerobics and pilates training on sturctural, biomotor and psychological variables of sedentary women. A total of 20 women (39.5±3.7 years average age) participated in the study voluntarily. Participants were randomly divided into two experiment groups (step aerobics n:10, pilates n:10). Body height and body weight, flexibility, balance, leg and abdominal strength, and selfesteem scale (Marsh 1994) were measured before and after the eight week training. SPSS was used for analysis. The results showed statistical differences in flexibility, balance, leg strength, abdominal strength, BMI, health, general physical condition, appearance, strength and self confidence in comparisons of the pretest – posttest measurements of the pilates group (p<0.05). There were statistical differences found in flexibility, balance, leg strength, abdominal strength, BMI, health, and strength when the pretest - posttest measurements of the step aerobic group were compared (p<0.05). Mann Whitney U test was performed to compare differences between the pretest- posttest measurements of both groups and analysis showed that there is no statistical differences between the groups (p>0.05). In conclusion, it is possible to say that eight weeks of step aerobics and pilates training has positive and similar effects on structural, biomotor and psychological variables of sedentary women.

Keywords: Sport, exercise, step aerobics, pilates, sedentary.



Introduction

For centuries humanity worked by using their bodies, currently with the opportunities offered by technology mobility is limited. Today in many countries, making people mobile again has become a state policy, because it is scientific fact that it is possible to protect health with exercise. The results obtained from medical methods (pharmaceutical treatment, surgery, etc.) are not positive when compared with the money spent on these processes. But it is possible to prevent a large proportion of health spending by allotting 10-15 minutes per day to exercise (Açıkada and Ergen, 1990). Among the keystones to creating a healthy society of healthy individuals, the large place held by sport is accepted by all countries in the world.

Regular exercise is known to prevent the development and progression of some disorders and to develop physical fitness of the individual. Physical fitness is composed of the elements of cardiovascular endurance, muscle strength, balance, muscular endurance, body composition and flexibility (Kin, 1996).

The majority of medical, health and exercise scientists agree that fitness has a positive effect on physical health in terms of ability to complete certain movements and achieve results. As this effect directly develops the physiological functions of many organs and systems, the development of an emotional state caused by movement is observed (Stanford et al. 1993). Additionally, exercise lowers blood pressure, develops balance and movement ability, lowers the risk of losing balance and falling and injury risks (hip or wrist fractures), slows the loss of muscle and bone mass in the body, increases flexibility, preserves ideal weight, ensures regular sleep, relieves tension and stress and provides a healthy and long life (Fox et al., 1999).

Physical activity is a necessary basic function for the healthy development of the human organism. The importance of physical activity for middle-aged and elderly people has been systematically studied in the last 20 years (Akgün, 1993).

It has been shown that in healthy women with no risk of injury, aerobic training with or without equipment has a positive effect on cardiorespiratory fitness, body composition and muscle strength (Kravitz et al., 1994).

Aerobic step and dance work is required to develop and preserve fitness. Aerobic dance promoted by Jakise Stevenson in the 1970s is very similar to continuous calisthenic exercise, but includes dance steps to the rhythm of music. Begining with low intensity and continuing to moderate intensity, this type of exercise does not cause tiredness as there is not much lactic acid accumulation. The most important characteristics of aerobic step exercise are the step, regular rhythm and regular breathing without going into deficit which allow energy to be created due to oxygen sent to muscles and uses up more energy compared to other types of aerobic exercise, is helpful in reducing fat ratios. Excess body fat increases the weight of the body and causes a hypokinetic disease of being overweight. Being overweight is related to the development of many diseases like diabetes, coronary heart disease, psychological disorders, kidney disease, hypertension, stroke, lung disease and back and foot problems.

Though pilates is an exercise with lower intensity compared to other aerobic and dance exercises, the concentration, control, focus, flowing movement rhythm, certainty of movement and breathing techniques during positions play a very important role in a healthy body. Studies have shown that pilates reduces the risk of heart diseases, prevents osteoporosis, gives the body a good form and develops balance, flexibility and strength



(Solomon, 2003). Aerobic exercises and pilates are considered to have positive effects on general fitness and many physiological and physical parameters. As individuals advance along the well-being path of health and vitality, they are stepping along the road to a healthier society.

The aim of the study is to investigate the effects of 8 weeks of step aerobics and pilates programs on leg strength, flexibility, balance, abdominal strength and self-esteem of middle-aged sedentary women.

Methodology

The study included 20 female volunteers living in Çanakkale province, who did not participate in sport and had no health problems.

Training program

In the study, participants did a 60 minute program of aerobics-step or pilates exercises 3 days a week for 8 weeks. Women participating in the aerobics-step first had 5 minutes low tempo warm-up movements, followed by a certain pattern of body movements of moderate intensity accompanied by music and rhythm for 20 minutes. In the second portion, the step (length 70 cm, width 30 cm, height 10 cm) was used and again exercises were completed including stepping up and down at certain intervals accompanied by music and rhythm for about 20 minutes. Later subjects did 10 minutes of floor exercises for abdominals and legs, with a final 5 minute cool-down. Pilates exercises for subjects participating were all accompanied by low rhythm natural music. Exercise equipment included a 65 cm soft gymnastic ball, pilates ring and elastic bands. The exercise began with 10 minutes slow tempo warm-up on foot, later compression, stretching and balance exercises with or without equipment were done on foot for 10 minutes. Mat or floor exercises led by back and abdominal exercises with or without equipment were performed by subjects for nearly 20 minutes. Finally to relax all muscle groups, muscle lengthening exercises, or stretching gymnastic movements, were performed for 10 minutes.

Participant selection

This study included 20 female volunteers living in Çanakkale provincial center aged from 35-45 years with no health problems and no previous participation in sport. Participants were randomly divided into two groups. The first group performed eight weeks of pilates, while the second group performed eight weeks of aerobic-step exercises. At the beginning and end of the study, participants completed structural, motor and psychological tests.

Data collection tools

The study data were colleced in an eight week period from February-March 2014 with the experimental method and survey technique. The self-esteem scale by Hülya Aşçı was used. The survey was administered face-to-face. Data were obtained from tests measuring structural and motor characteristics and the scale measuring psychological characteristics.

Flexibility measurement: Flexibility measurements used the sit-reach test. For the flexibility test, a sit-reach flexibility box was used. Subjects attempted to reach as far forward as possible without bending their knees. Subjects had the farthest distance reached in 1-2 seconds recorded with the best value from three attempts noted by the researcher in cm on the measurement assessment form. Balance measurement: Balance was measured using the



flamingo balance test. Participants attempted to keep their balance for 1 min on a balance board. The best of two attempts was recorded (Koç and Aslan 2010).

Leg strength measurement: The standing long jump test was used to measure leg strength. From the zero point the subjects jumped to the furthest point possible on both legs without gaining speed. The best of two attempts was recorded (Koç and Aslan 2010).

Abdominal strength measurement: The sit-upt test was used to measure abdominal strength. Subjects lay on a mat with soles of the feet at the end of the mat and did sit-ups for 1 minute (Pense and Serpek 2010).

Self-esteem measurement: Developed by Marsh et al. (1994) and adapted to Turkish by Aşçı (2000), self-esteem was assessed using a physical description inventory. The scale includes a total of 70 questions with 11 sub-dimensions. The scale has 6-point Likert form with reliability points of 0.87-0.98 Cronbacha alpha.

Statistical Analysis

Data obtained in the study were assessed with the SPSS program. For comparison of the pretest-posttest measurements of the groups, the t test for independent groups was used. To compare the differences between pretest and posttest measurements, the Mann Whitney U test was used. Results at p<0.05 were accepted as significant.

Ethics

This study received permission from Çanakkale Onsekiz Mart University Human Research Ethics Committee dated 01.08.2012 numbered 2013-15. Additionally information was given to participants before the study and voluntary participation was ensured.

Findings

Groups					
Variables	Pilates (n:10)	Step Aerobic (n:10)	Total (n:20)	t	р
	X±SD	X±SD	X±SD		
Age (years)	39.02±3.7	39.07±3.8	39.4±3.6	-0.297	0.770
BMI (Kg/m2)	25.8 ± 3.4	29.2±6.1	27.5±5.1	-1.532	0.143
Monthly income (TL)	1650.1±1328.5	1140.0±1211.2	1395.1±1264.6	0.897	0.382

Table 1. Demographic characteristics of participants

Data relating to demographic characteristics of participants are shown in Table 1. Accordingly 20 participants were included (10 pilates and 10 aerobic-step) and the mean age, BMI and monthly income were 39.4 ± 3.6 year, 27.5 ± 5.1 kg/m2 and 1395.1 ± 1264.6 TL. T test analysis results for these variables found no statistical differentiation. The groups composed of participating individuals were identified to have similar characteristics.



	Pretest	Posttest	Т	Sd	Р		
Flexibility	5.9±4.9	7.5±6.1	-3.637	9	0.05		
Balance	6.9±4.6	5.2±4.3	6.530	9	0.01		
Leg strength	100.0±22.4	104.3±22.1	- 10.864	9	0.01		
Sit-ups	42.5±14.3	53.0±16.1	-9.229	9	0.01		
BMI	25.8±3.4	24.8±3.2	8.419	9	0.01		
Health	31.7±5.5	31.6±5.3	.264	9	0.79		
Coordination	12.6±1.6	13.6±1.4	-2.121	9	0.06		
Physical Activity	7.1±1.8	7.7±1.8	-1.765	9	0.11		
Body Fat	22.3±4.5	23.5±3.4	-1.724	9	0.11		
Sporting Ability	14.9±3.5	15.9±2.1	-1.677	9	0.12		
General Physical Sufficiency	21.9±4.5	24.0±3.8	-2.641	9	0.02		
Appearance	25.7±3.9	27.0±4.1	-3.284	9	0.01		
Strength	20.3±5.6	21.7±4.6	-2.585	9	0.02		
Flexibility	16.2±3.1	17.2±2.4	-1.936	9	0.08		
Endurance	7.9±1.8	8.3±1.8	-1.309	9	0.22		
Self-confidence	36.7±7.8	38.2±7.3	-3.308	9	0.01		

Table 2. Comparison of pretest-posttest measurements in the pilates group

In the pilates group, the comparison of pretest and posttest results before and after the eight week training are shown in Table 2. When Table 2 is investigated, there was a statistically significant difference between the pretest and posttest measurements when flexibility, balance, leg strength, sit-ups, BMI, health, general physical sufficiency, appearance, strength and self-conficdence (p<0.05) are considered. Based on this data, eight weeks of pilates exercise was identified to have a positive effect on the variables listed above.

	Pretest	Posttest	Т	Sd	Р
Flexibility	6.1±5.4	8.4±5.9	-6.273	9	0.01
Balance	6.4±3.7	4.9±3.5	6.708	9	0.01
Leg strength	101.5±29.5	105.9 ± 28.6	-5.766	9	0.01
Sit-ups	48.2±12.8	56.7±11.6	-9.888	9	0.01
BMI	29.2±6.1	28.0±5.7	8.264	9	0.01
Health	29.8±2.4	29.2±3.0	.699	9	0.50
Coordination	14.1±2.5	14.9±3.0	-1.500	9	0.16
Physical Activity	6.5±0.9	8.0±3.3	-1.513	9	0.16
Body Fat	23.4±1.4	24.1±2.2	-1.137	9	0.28
Sporting Ability	15.8±2.8	17.0±2.2	-2.343	9	0.04
General Physical	24.0±1.5	25.4±2.0	-1.801	9	0.10
Sufficiency					
Appearance	26.7±1.5	27.0±2.2	345	9	0.73
Strength	21.2±1.3	23.7±3.2	-2.825	9	0.02
Flexibility	17.1±2.0	17.9±3.0	-1.238	9	0.24
Endurance	7.4±0.6	8.7±3.4	-1.329	9	0.21
Self-confidence	42.3±1.9	41.7±3.8	.439	9	0.67

Table 3. Comparison of pretest-posttest measurements in the step aerobics group



	Group	Ν	Row mean	Row total	U	Р
Flexibility Difference	Pilates	10	9.00	90.00	35.000	0.244
	Step aerobic	10	12.00	120.00		
	Total	20				
Balance Difference	Pilates	10	9.75	97.50	42.500	
	Step aerobic	10	11.25	112.50		0.518
	Total	20				
Leg strength	Pilates	10	11.05	110.50		
Difference	Step aerobic	10	9.95	99.50	44.500	0.670
	Total	20				
Sit-ups Difference	Pilates	10	11.95	119.50		
	Step aerobic	10	9.05	90.50	35.500	0.269
	Total	20				
Health Difference	Pilates	10	10.20	102.00		
	Step aerobic	10	10.80	108.00	47.000	0.810
	Total	20				
Coordination	Pilates	10	10.50	105.00		
Difference	Step aerobic	10	10.50	105.00	50.000	1.000
	Total	20				
Physical activity	Pilates	10	10.55	105.50	49.500	0.965
Difference	Step aerobic	10	10.45	104.50		
	Total	20				
Body Fat Difference	Pilates	10	10.60	106.00	49.000	0.939
2	Step aerobic	10	10.40	104.00		
	Total	20				
Sporting ability	Pilates	10	9.25	92.50	37.500	0.319
Difference	Step aerobic	10	11.75	117.50		
	Total	20				
General physical	Pilates	10	10.60	106.00		
sufficiency Difference		10	10.40	104.00	49.000	0.939
	Total	20				
Appearance Difference	Pilates	10	11.35	113.50	41.500	0.506
	Step aerobic	10	9.65	96.50		
	Total	20				
Strength Difference	Pilates	10	9.40	94.00	39.000	0.397
	Step aerobic	10	11.60	116.00		
	Total	20				
Flexibility Difference	Pilates	10	10.50	105.00	50.000	1.000
	Step aerobic	10	10.50	105.00		
Endurance Difference	Pilates	10	9.85	98.50	43.500	0.577
	Step aerobic	10	11.15	111.50		
Self-confidence	Pilates	10	12.75	127.50	- 27.500	0.078
Difference	Step aerobic	10	8.25	82.50		
BMI Difference	Pilates	10	11.10	111.00	44.000	0.650
	Step aerobic	10	9.90	99.00		

Table 4. Comparison of structural, motor and psychological characteristics in the groups based on pretest-posttest variation



In the aerobic-step group, the comparison of pretest and posttest results of variables before and after the eight week study is shown in Table 3. When Table 3 is investigated, the step aerobic group had statistically significant differences between pretest and posttest measurements of flexibility, balance, leg strength, sit-ups, BMI, and strength (p<0.05). When the analysis results are noted, eight weeks of step and aerobic exercise was identified to have a positive effect on the variables above.

The Mann Whitney U analysis results of the difference between pretest and posttest points for structural, motor and psychological variables before and after eight weeks of either pilates or step aerobic exercise are shown in Table 4. When the differences in measurements before and after training are compared between the pilates and step aerobic groups, it was found there was no significant difference in terms of statistics (p>0.05). It can be said that eight weeks of pilates and step aerobic training had similar rates of effect on the variables monitored.

Discussion and Conclusion

In light of research, the importance of exercise is increasing every day. The importance of sporting activities necessary to solve a range of health and psychological problems occurring in individuals choosing an immobile life is shown in all areas of life. Exercise in fitness programs undertaken after a sedentary lifestyle has negatively affected human life had a protective effect generally on human health and physical fitness. Regular exercise aids in developing aspects relating to physical fitness. Aspects of physical fitness related to health include cardiovascular endurance, muscle strength, muscle endurance, body composition, flexibility and nerve-muscle relaxation (Heyward, 1991). The results of this study determined that there were positive developments in physical performance with regular exercise. There were statistically significant differences observed in measurements before and after exercise for the variables of flexibility, abdominal and leg strength, balance and body mass index (BMI) especially (p<0.05).

Degree of flexibility is high in the childhood period, but flexibility reduces as age advances. In other words, there is an age-linked reduction. While this reduction may be large in sedentary individuals, it is less in individuals with an active lifestyle. In fact, there was an increase in flexibility of individuals with regular exercise. Another effect of flexibility and stretching exercises is that the person feels relaxed and is protected from potential injury. In the absence of flexibility, acute and chronic injury and back pain problems increase. Regular stretching movements ensure gains for everyone and are a particular requirement for older people because elasticity traits reduce with age.

There is a substantial amount of information relating to the benefits of regular exercise for middle-aged and elderly individuals, with awareness of the positive effects of physical exercise on quality of life at advanced age (Aydos and Kürkçü, 1997). Segal et al.(2004) found a significant increase in flexibility values at the p<0.001 level as a result of pilates exercises performed for 2, 4 and 6 month periods by adults (42 females, 2 males). Similar results were found in the study by Akdur et al. (2007). Zorba et al. had middle-aged sedentary women perform 45 minutes of high tempo step exercise 3 days per week for 8 weeks and identified a significant increase in flexibility values for individuals in the pilates and step aerobic groups. This result is in parallel with the literature.



Balance is a complicated process including coordinated activities of many sensory, motor and biomechanical components. The environmental components within balance include the somatosensorial, visual and vestibular systems. The central nervous system combines the environmental inputs from these systems, controlling body position and posture on a support base choosing many appropriate muscle responses. In a special position or during movement posture and balance are maintained and controlled which is fundamental for physical activity. The ability of a person to balance is described as a determinant factor for development of other motor systems (Erkmen et al., 2007).

Hall (1998) researched the effect of pilates on the static and dynamic balance of 31 males and females aged from 65-85 years and found a significant difference between the pretest and posttest results after 10 weeks of exercise. In parallel with these results, our study found the balance performance in participants in the study was significantly improved.

Turan et al. (1997) in a study of subdermal fat thickness of sedentary individuals and training sports people at Cumhuriyet University, found that sports people had lower fat mass. Regular physical activity is known to prevent and delay weight gain. A study researching the correlation between physical activity and BMI in adults found a significant difference when they compared the BMI of individuals participating in regular physical activity and sedentary individuals (Sevimli, 2008). The positive effect of exercise on reducing subdermal fat tissue was observed in individuals participating in our study. The BMI values of participants in both groups were significantly reduced (p<0.05).

There are findings encountered in the literature on the positive effects of pilates and step aerobic exercise on strength. Previous studies have indicated positive effects of aerobic exercise on back, leg and hand grip strength (Babayiğit et al., 2002; Dönmez and Aydos, 2000; İmamoğlu et al., 2002; Karacan and Çolakoğlu, 2003; Kurt et al., 2010). In parallel with the literature, this study found a significant increase in the leg and abdominal muscle strength of individuals participating in step aerobics after training. Similar results were observed for pilates exercises, with significant changes in back, leg and abdominal muscle strength as a result of pilates exercises identified by researchers (Fourie et al., 2012; Betül et al., 2010). These results support the results of our study.

Self-esteem begins to develop at birth, continuing to develop until the adult period, and is a mental, societal and partially physical case affected by life events in adulthood (Yörükoğlu, 1985). In the mental development process, many factors affect self-esteem, with family having a major effect. In the literature, research indicating a linear correlation between obesity and reduced esteem values are in the majority (Bryan and Tiggemann, 2001; Telch, 1994; Werrij et al., 2006; Annis et al., 2004; Mond et al., 2011). A study in Turkey found that self-esteem of obese people was significantly low compared to non-obese people (Tezcan, 2009). Another study determined that self-esteem of obese people was lower compared to people of normal weight (p<0.001); that self-esteem of obese people was correlated with BMI; and as BMI increased there was a reduction in self-esteem (Yücel, 2008). The self-esteem points of individuals participating in our study differed in measurements before and after exercise. Individuals in the pilates group especially showed significant variation in sub-dimension variables of self-esteem of health, general physical sufficiency, appearance, strength and self-confidence (p<0.05). Similar findings were found for the strength subdimension in the step aerobics group. These results are in parallel with the literature.

In the pilates group, when pretest and posttest results from before and after eight weeks of training are compared, there were statistically significant differences observed for flexibility,



balance, leg strength, sit-ups, BMI, health, general physical sufficiency, appearance, strength and self-confidence (p<0.05). Based on this data, eight weeks of pilates exercises may be said to have a positive effect on these variables.

In the aerobic-step group, the comparison of variables before and after the eight week study found the step aerobic group had statistically significant differences between pretest and posttest measurements of flexibility, balance, leg strength, sit-ups, BMI, and strength (p<0.05). When the analysis results are noted, eight weeks of step and aerobic exercise was identified to have a positive effect on the variables above.

When the differences in measurements before and after eight weeks of pilates and step aerobic training are compared between the groups, there was no significant difference found in terms of statistics (p>0.05). It can be said that eight weeks of pilates and step aerobic training have similar rates of effect on the variables monitored

In conclusion, eight weeks of step aerobics and pilates training had a positive effect on the structural, motor and some psycholocial characteristis of sedentary women. It was also determined that the effects of these two different exercise types on the observed variables over eight weeks were statistically similar.

Conflict of Interest

The authors have not declared any conflicts of interest.

Corresponding Author

Özhan BAVLI: Çanakkale Onsekiz Mart University, Physical Education and Sport Department, Çanakkale, Turkey, **Email:**ozhanbavli@hotmail.com

REFERENCES

Açıkada C, Ergen E (1990). Bilim ve Spor. 1st ed. Ankara: Büro Tek Press.

Akdur H, Sözen AB, Yiğit Z, Balota N, Özen G (2007). Yürüme ve Step-Aerobik Egzersizlerinin Obez Kadınların Fizik Parametreleri Üzerine Etkisi. İstanbul Tıp Fakültesi Dergisi. 70(3): 064-069.

Akgün N (1993). Egzersiz Fizyolojisi. 4th ed. İzmir: Ege University Press., p. 53.

Annis NM, Cash TF, Hrabosky JI (2004). Body image and psychosocial differences among stable average weight, currently overwight, and formerly overweight women. Body Image, 1:155-167.

Aşçı FH (2000). The reliability and validity of PSDQ for Turkish population. Congress Proceedings of Vith Sport Sciences Congress. 3-5 November, Hacettepe University: Ankara, p. 122-123

Aydos L, Kürkçü R (1997). 13-18 Yaş Grubu Spor Yapan ve Yapmayan Orta Öğrenim Gençliğinin Fiziksel ve Fizyolojik Özelliklerinin Karşılaştırılması. Gazi Üniversitsi Beden Eğitimi Spor Bil. Der. 2(2):32.



Babayiğit G, Zorba E, İrez SG, Mollaoğulları H (2002). 25-31 yaşları arası bayanlarda 8 haftalık step çalışmalarının bazı fizyolojik ve antropometrik değerlere etkisi. 7. Uluslar arası Spor Bilimleri Kongresi. 27-29 /11/ 2002.

Betül S, Mutlu C, Feza K (2010). Effects of Swiss-Ball Core Strength Training on Strength, Endurance, Flexibility, and Balance in Sedentary Women. Journal of Strength & Conditioning Research: 24:11:3032-3040

Bryan J, Tiggemann M (2001). The effect of weight-loss dieting on cognitive performance and psychological well-being in overweight women. Appetite., 36:147-156.

Dönmez G, Aydos L (2000). Kalistenik çalışmaların orta yaşlı sedanter bayanların fizyolojik ve fiziksel parametreleri üzerine etkisi. Gazi Beden Eğitimi ve Spor Bilimleri Dergisi, 5(2),17-25

Erikson E (1950). Childhood and Society. New York, Norton.

Erkmen N, Suveren S, Göktepe AS, Yazıcıoğlu K (2007). Sporcuların Egzersiz Sonrası Denge Performanslarının Karşılaştırılması. Spormetre. 5(3):115-122.

Fourie M et al. (2012). Effects of a mat Pilates programme on muscular strength and endurance in elderly women. African Journal for Physical Health Education, Recreation and Dance.18:2:299-307.

Fox BF, Bowers RW, Foss ML (1999). Beden Eğitimi ve Sporun Fizyolojik Temelleri. (Çev. Cerit, M). Ankara: Bağırgan Yayınevi; p.354-376.

Hall DW, Nichols J, Aguilar L, Larkam E (1999). Effects of Pilates-based training on static and dynamic balance in an elderly population Med. Sci. Sports Exerc. 31(5):388

Heyward UH (1991). Advanced Fitnes Assessmend Exercise Prescription. 1st edition. Texas: Human Kinetics Books; p.12-13

İmamoğlu O, Akyol P, Bayram L (2002). Sedanter bayanlarda üç aylık egzersizin fiziksel uygunluk, vücut kompozisyonu ve bazı kan parametreleri üzerine etkisi. 7. Uluslararası Spor Bilimleri Kongresi, Ankara 27-29 Ekim 2002. s.19

Karacan S, Çolakoğlu FF (2003). Sedanter orta yaş bayanlar ile genç bayanlarda aerobik egzersizin vücut kompozisyonu ve kan lipitlerine etkisi. Spormetre, 1(2), 83-88.

Kin A (1996). Step ve Aerobik Dansın Üniversiteli Bayanların Fizyolojik Parametrelerine Etkisinin Karşılaştırılması. Yüksek Lisans Tezi. Ankara: ODTÜ.

Koç H, Aslan CS (2010). Erkek Hentbol ve Voleybol Sporcularının Seçilmiş Fiziksel ve Motorik Özelliklerinin Karşılaştırılması, Selçuk Üniversitesi Spor Bilim Dergisi, 12 (3): 227-231

Kravitz L, Heyward VH, Stolarczyk LM, Wilmeding V (1997). Physical fitness programs and actities weight-training. Journal of strength and conditionning research, 11(3):194-199

Kurt S, Hazar S, İbiş S, Albay B, Kurt Y (2010). Orta yaş sedanter kadınlarda sekiz haftalık step-aerobik egzersizinin bazı fiziksel uygunluk parametrelerine etkilerinin değerlendirilmesi. Uluslararası İnsan Bilimleri Dergisi.7:1:665-674

Marsh HW, Richards GE, Johnson S, Roche L, Tremayne P (1994). Physical self description quest ionnaire: psychometric properties and a multi trait multi method analysis of relations to existing instruments. Journal of Sport and Exercise Psychology,16:270-305



Mond J, van den Berg P, Boutelle K, Hannan P, Neumark-Sztainer D (2011). Obesity, body dissatisfac-tion, and emotional well-being in early and late adolescence: findings from the project EAT study. J Adolesc Health., 48:373-378.

Pense M, Serpek B (2010). Yaş Arası Basketbol Oynayan Kız Öğrencilerin Fizyolojik ve Biomotorik Özelliklerinin Eurofit Test Bataryası ile Belirlenmesi. Selçuk Üniversitesi Beden Eğitimi ve Spor Bilimleri Dergisi, 12 (3) : 191-198

Segal NA, Hein J, Basford JR (2004). The effects of Pilates training on flexibility and body composition: an observational study. Arch. Phys. Med. Rehabil., 85: 1977–1981

Sevimli D (2008). Eriskinlerde fiziksel aktivite - beden kitle indeksi ilişkisinin araştırılması. TAF Prev Med Bull., 7(6):523-528.

Solomon L (2003). Yogalates. 1st edition. London. Virgin Books Ltd 2003; p.25.

Stanford D, Stanford PR, Velasquez KS (1993). Aerobic reguirement of bench stepping. İnternational journal of sports medicine,14;129-133.

Telch CF, Agras WS (1994). Obesity, binge eating and psychopathology: Are they related? International Journal of Eating Disorders. 15(1):53-61

Tezcan B (2009). Obez Bireylerde Benlik Saygısı, Beden Algısı ve Travmatik Geçmiş Yaşantılar. Bakırköy Prof. Dr. Mazhar Osman Ruh Sağlığı ve Sinir Hastalıkları Eğitim ve Arastırma Hastanesi, Uzmanlık Tezi, İstanbul, 2009.

Turan T, Kayserilioğlu A, Şentürk D, Subaşı FF, Güler Ç (1992). Sedanter Bayanlarda 8 Haftalık Submaximal Egzersiz Programının Fizyolojik Parametrelerine Etkisi. Spor Bilimleri 2.Ulusal Kongresi Bildirileri. Ankara, p.214.

Werrij MQ, Mulkens S, Hospers HJ, Jansen A (2006). Overweight and obesity: the significance of a depressed mood. Patient Educ Couns. 62:126-131.

Yörükoğlu A (1985). Gençlik Çağı. Ankara, Tisa Matbaası.

Yücel N (2008). Kilolu ve Obez Kadınlarda Obezite ve Benlik Saygısı İlişkisinin Değerlendirilmesi. Marmara Üniversitesi Sağlık Bilimleri Enstitüsü, Yüksek Lisans Tezi, İstanbul.